231004-with.notebook

October 04, 2023

Stk = 3¢_,,7'lx) = ng-cthxl) —;2—?;1—.7’6()

A (x)= 3
s+ )< 2
> _ + V3 -
oo (v) = I\/,:- = = ;:qu_ﬁ\
e |2 _ L AW T sal
* £ ‘=35, “", 3
6 -3




231004-with.notebook October 04, 2023

MAT 122 Cheat Sheet

Double-Angle Formulas: sin(2u)=2sin(u)cos(u), cos(2u )= cos?(u) - sin*(u)= 2 cos*(u)—1=1-2sin*(u),

~ 2tan(u) 3 sin(2u)
tan(2u )= 1-tan*(u)  cos(2u)

u 1—cos(u u 1+ coslu u l—cos(u) sin[;

Half-Angle Formulas: sin| — |=+,[—————=, cos| — |=+.|———,tan| — |=— =
2) 7V 2 2V 2 B 2)  sin(u) [u
2

You have to determine the “+ > deal by determing the quadrant in which 5 resides.

H

tan(u)= 1-cos(2u) sin’(u)

Power-Reducing Formulas: sin’ = =
2 1+cos(2u) cos*(u)

(u)= I_Ls(zu),cosz(u): L+ cos2u) tan
2

Product-to-Sum Formulas
Sum-to-Product Formulas

. . |
sinusinv =~ [cos(u — v) = cos(u + v)] 4+ v 0 — v
“ sinu + sinv = 2sin cos|—

cosucos v = —[cos(u — v) + cos(u + v)]

19 | —

u+ v u-—v
cosu + cos v = 2 cos| —— | cos(

sinucos v = —I[sin(u +v) + sin(u — v)] u+v u—v
2 cosu — cosv = —2 sin( 5 ) sin( 5 )
- rawans without 7
Pythagorean Identities Angle Sum Formulas 1.570796327
tan®(x)+1=sec’(x) sin(u + v) = sin(u)cos(v)+ sin(v)cos(u)
. . 3.141592654 6.283185308
cot’(x)+1=cscc’(x) cos(u + v) = cos(u)cos(v) - sin(u )sin(v)

4.712388981
sind_ sinB _sinC
a b c

Law of Sines Law of Cosines a” =b” + ¢*> —2bccos A

Heron’s Area = \/s(s —a)s—b)s—c), where s = %M . Magnitude u = <a,b> = ||17|| =va’ +b’

1
Arc Length: s=r6, Area of a Sector: A= 5}’20
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Using Half-Angle Formulas In

Exercises 35-40, use the half-angle formulas
to determine the exact values of the sine,
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Find the x-intercepts of the graph. (Enter your answers as a comma-separated list. Use n as an integer constant.)
—————

y = tanz(%) -1
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Using Half-Angle Formulas In Exercises
41-44, use the given conditions to (a) determine
the quadrant in_which u/2 lies, and (b) find
the exact values of sin(u/2), cos(u/2), and
tan(u/2) using the half-angle formulas.

41. cos u = 7/25, /2

0<u<

42, sinu =5/13, /2 <u<n
43. tanu = —5/12, 3n/2 <u < 2n
44. cotu =3, 7 < u < 3n/2
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Use the power-reducing formulas to rewrite the expression in terms of first powers of the cosines of multiple angles.

3 cos?(x)

— ) — sin >
)= 1 C?:{zu),cosl(u)z 1+C(;5{“"),tan3(u)= 1 coe(Zu)_ sin’(u)

I+cos(2u)  cos’(u)
T4+ ,Jﬂ %S -Crow\ Dou.’l—en.r}«?/@ for cosne
whts 2 Lohos Gron 4.,,7_@,4944#,)—;. Qwﬁq:

3 wsilv) = 3 cerd) Cﬂw\) 3(”5\
=jéas (9-«.)4’(> _ @sv(n_x) +'>¢p_<(j)_j_(> (3\
2> 9

tos” (2¥ (’2—“) N 1 us/u) + >(3)

5(4}4—')(:9 (wﬂf”)-‘_é 1@5(‘“‘)_‘, )(33

L coslien) + 5 @S G “'2) (3)

Power-Reducing Formulas: sinz(u
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